Trig. Equations Needing Identities
4 marks

June 2015

Question 7
Solve the following equation algebraically over the interval [0. 27t]

cos28—3smf—-2=0
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Question 7 4 marks
Solve the following equation algebraically for x. where 0 < x < 21,
2cos? x = -3sinx
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Question 36 1 mark
Explain the error that was made when solving the following equation:
sin 28 = cos 8, where e R
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Solve the following equation over the interval [O,, Zn].

2c0os268-1=0
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Question 7

4 marks

Solve the following equation algebraically where 180° < 8 < 360°.

2sin29+ Scosf+1=0
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a( l—wos'e ) + S wies +L =0
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